DATE: 10/22: 98¢ TIME: 18:00:00
DESIGN FILE: I:\ligo\site2\ee\lae40S. dgz

consent  from

except by writfen

- PARSONS to the borrower.

nof be reproduced, copied, loaned, exhibited, or used in

any ofher way,

DRILL 27/64"
TAP 1/2°-13

[[—~B.

CHANNEL

(PB MTG) MF
|
|

PLAN SYMBOL

e—— CHANNEL

MOTOR

\ —

O,

DRILL ,/3/32”: 1N \

L]

—

f
“F——— GND CONDUCTOR, GREEN,

\__ STRANDED, INSULATED AS
T SHOWN ON FLAN.

LIST OF MATERIAL

M) ory | DESCRIPTION
I | 7| SERVIT POST, *2-*2/0 WIRES, BURNDY K2C26
2 / CONNECTOR, TWO #4-22,/0 WIRE FLAT BAR, BURNDY TYPE GCMZ26

(LONGER BOLT AS REQD)

MOTOR GROUNDING /

N T.S.

MCC OR
SWITCHGFAR

GROUNDING BUS

DRILL & TAFP
J/8" 16

*2/0
STRD
BC

e
« e @7

SECTION

_®

TO GND NETWORK

,‘.V_ . A o .
/ #2,0 STRD BC

ELEVATION

LIST OF MATERIAL

IEM\ ory DESCRIPTION
I | AR | MOLD HORIZONTAL TEE, #4/0-%#4/0 WIRF

2 /| CARTRIDGE, STANDARD POWDER 150 GRAMS

I /| FLUSH PLATE, #4/0 WIRF SIZE, 3/8" TAPPED
4 | 2 |LUG *1,0-%2/0 WIRE x 3/8"BOLT

5 | 2 | SILICONE-BRONZE BOLT, 3/8"-16 x 3/4" LONG
6 | 2 | SILICONE-BRONZE LOCKWASHER SPRING 3/8"

SWITCHGEAR OR

MCC GROUNDING

N’ 7—0 5’

27\ rex
=/

3
T

BEAM
.
i i
: { i
i i
COMPOSITE 4
BUILDING L WELD BOLT
PANEL L B 1 70 f MB[ 00[ 0
L COMPOSITE ANGLE IRON
b gwa ngG
: AN,
GIRT )
C
H H
i {
i i
H H
CURB A
Y FLOOR
gakr ) o

N
-

LIST OF MATERIAL

ITEM

vo. | ory DESCRIPTION
/ /I | BOLT, 3/8"-16 x 1", HEX HEAD STAINLESS STFEL
2 ! | LOCKWASHER, 3/8", STAINLESS STEEL

2| 7 | MT, 3/8"-16, STAINLESS STEEL

4 ! | LUG, BOLTED CLAMP TYPE, BRONZE

N T. 5.

COMPOSITE BUILDING PANEL GROUNDING /3 ser

=/

COVER WITH VINYL MASTIC
OVERWRAPPED WITH 2 HALF LAFPPED
LAYERS OF TAPE, SEAL

WITH ELECTRIC COATING

TYPE| WIRE SIZE
RUN | TAP

*4,0| #4/0

2400 22/0

24,0, *2
#2 #o
#2 #4

| #2/0| *2/0

2201 #2

#1170 #1/0

WIRE TO WIRE
XA THERMAL CONNECTION

TiIOMIMSIO 0>

GROUND CONDUCTOR (TYP)
SEE PLAN FOR SIZE

OVER 1/4" —] e

EOPT FRAME
HOLE DIA DRILL & TAP
SEE BELOW SEE BELOW
EOPT FRAME —=
TYPE HOLE TYPE| WIRE | TAPPED
DIA. SIZE HOLE
A | #8-22/0| 7/16" A | #8-#2 | 3/8"-16
B |#0-22,0| 1,213
TAPPED
¥B CONNECTION X CONNECTION

LIST OF MATERIAL

IEM\ oy DESCRIPTION
/ /| THERMAL WELD, GROUND, SIZE AS REQUIRED
2 /| GROUND CONNECTOR, CABLE TO BAR, SIZE AS REQUIRED
3 /| GROUND FOST, SIZE AS REQUIRED
4 | AR | TYPE “TW" INSULATED GREEN GROUND WIRE (UNLESS OTHERWISE NOTED)
———— e GROUNDING CONNECTIONS  rax\ #er
| — ] £-103
N.T.S. N

£-208

borrower's expressed written agreement that they will

This document and the design'i‘f covers are the property
of PARSONS . They are loaned only with ~the

(TYP)

#//0 BARE COPPER

£ $v
o b

LIST OF MATERIAL

ITEM
no. | 077

DESCRIPTION

GROUND PLATE, FLUSH, CADWELD *B16420

FLUSH FLOOR GROUND PLATE (5 e

LIG

CALIFORNIA INSTITUTE OF TECHNOLOGY

LASER INTERFEROMETER

GRAVITATIONAL-WAVE OBSERVATORY
SITE NO. 2 - LIVINGSTON, LOUISI

— ] F-202
N.T.S. | N £-208
ool
o0
- - /o~ 1SSUED FOR CONSTRUCTION ,
DRAWN M. M, |11-15-96
CHECKED Jel | 7-24-%
o 0 ENGINEER |l  |jp-25 %% 5
o é PROJ o | 11)15/94 , pAn s 0 N s
L .
1= 100 WEST WALNUT STREET
| i PASADENA, CALIFORNIA
DRAWING NO. DESCRIPTION BY CHKD m ) DESCRIPTION |

5

<

|

MASSACHUSETTS INSTITUTE OF TECHNOLOGY |

TITLE

ELECTRICAL

GROUNDING DETAILS

" SHEET |

CONTRACT NUMBER

PP 150969

SHEET NUMBER

L160-D96104) =00-0

—
PROJECT NUMBER

8094 |

LIGOLAF.BDR



	068.pdf

